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Part A:Eeabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

She's not very -—--———- in the way she treats her children; they may be punished today for
something they were rewarded for yesterday!

1) dominant 2) restrictive 3 ) consistent 4) proportional

She has the --—-—---- of being one of the few people to have received an honorary degree from
the university this year.

1) extraction 2) detection 3) distinction 4) simulation

Financial ------- --- on the company are preventing them from employing new staff.

1) resolutions 2) deductions 3) approaches 4) constraints

The pattern ------emm- from our analysis of the accident data shows that bad roads are
responshible for the majority of accidents.

1) occurring 2) assuming 3) identifying 4) emerging

The changes to the national health system will be -~------—— next year; people won't have to
worry about long waiting lists for hospitals anymore.

1) converted 2) intervened 3) accompanied 4) implemented

The course is essentially theoretical in---------- , but you'll need some practical work experience
before you can apply for the job.

1) process 2) function 3) orientation 4) exploitation

The report suggests that there has only been a(n) ——— --- improvement in women's pay over
the past few years.

1) ultimate 2) eventual 3) marginal 4) enormous

She gave me this jumper, which she had -—------ -- herself.

1) knitted 2) knitted it 3) been knitted 4) been knitted it

The teacher suggested that Ali ———--——- the lesson at least twice before taking the test.

1) reviews 2) review 3) reviewed 4) reviewing

He was in such bad shape and asked for my help. It was impossible to ---------- :

1) refuse 2) refusing 3) refused 4) be refused

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each

blank. Then mark your choice on your answer sheel.

Hurricane Floyd, one of the most powerful storms ever (11) ---------- in the Atlantic, has pounded
the Central Bahamas and set its sights (12) ---------- Florida. The storm brought heavy rains and
strong winds of up to 200 kph., (13) ---------- residents sought refuge in boarded up homes.
Forecasters say Floyd is capable of (14) ---------- destruction and the states of Florida and Georgia
have ordered more than two million people (15) --—------ the Atlantic shoreline.

1) recoding 2) to record 3) recorded 4) was recorded

1) to 2)on 3)in 4) from

1) as 2) that 3) whose 4) which

1) mass 2) a mass 3) the mass 4) that mass

1) evacuated 2) to evacuate 3) for evacuation 4) evacuating
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Part C. Reading Comprehension

Directions: Read the following passages and choose the best choice (1), (2), (3), or (4) to fill in
the blanks Then mark it on your answer sheet.

The permutations and combinations of the host of physical and chemical variables required to

successfully produce chemical products mean that each process studied will have important
differences as well as similarities to other chemical processes.

In this sentence host means ~———---——-- .
1) unknown 2) selected 3) few 4) a large number

Most of the wastewaters containing organic carbon, nitrogen and phosphorus compounds can be
treated using aerobic biological processes. Bacteria degrade the organic carbonaceous pollution,
oxidize ammonia to nitrate, and phosphorus can be removed by luxury uptake. The nutrients
nitrogen and phosphorus can be reduced in biological treatment plants in order to avoid
eutrophication in the receiving waters as lakes, inland seas or bays.

Bacteria are living organisms with sophisticated control systems which are genetically fixed. The
bacterial population in the biological reactors develops adaptation to the wastewater composition,
the process configuration (layout), loading pattern, process control and environmental conditions
(mainly temperature, pH).

Aerobic biological process can decompose --------- -

1) organic carbon

2) nitrogen compounds

3) organic matter as well as nitrogen & phosphorus compounds

4) phosphorus compounds

The most appropricte title for the passage is ------ —

1) Biological wastewater treatmet

2) carbon, nitrogen and phosphorus removal from wastewater

3) Microbial adaptation

4) The behavior of microorganisms

The main cause of eutrophication in lakes i§ -------—-

1) nitrogen compounds 2) phosphorus compounds

3) organic compounds 4) nitrogen & phosphorus compounds
The micro organisms --------—- -

1) can adapt themselves to different poisonous materials

2) can gradually acquire ability to withstand changes in temperature.

3) are very sentitive to pH changes

4) can accept different environmental condition

The control systems of microorganisms are ---------- : |

1) complicated 2) changed by adaptation
3) changed by loading patterns 4) genetically adjusted

Temperature of the wastewater and its variations over time represent a very imp:nrtam in
formation for design and operation of treatment processes. The temperature 1‘nﬂur:nc_es important
physical parameters such as density, viscosity, etc, Most of the chemical and biochemical reactions
are strongly dependent and often very sensitive to temperature changes and ranges. As chemical or
biochemical reactions can be endothermic or exothermic they can contribute to changes n
temperature in the wastewater reactors. Climatic conditions as air temperature, wind velocity, air
humidity and solar irradiation also can causes temperature variations in outdoor reactors.

Balances for all energy inputs and losses are necessary to estimate the influence of the wastewater
temperature on the treatment processes. The high values for the specific heat and the evaporation
energy of water should always be kept in mind, especially if a water temperature adjustment 1s
aimed at by heating or cooling.

Temperatures will have to be monitored at nearly every type of wastewater treatment process.
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Temperature control in a wastewater treatment process is -----—----

1) complicated 2) difficult 3) essential 4) unusual
A I_:riuchemical reaction is —------——-- to temperature variation ranges.
1) independent 2) sensitive 3) unrelated 4) unconnected

In a treatment process it is necessary to balance the heat input and losses in order to find out
optimum waste water -------——- !

1) humidity 2) input 3) output 4) temperature

The best title for this passage is ~—=----=-- .

1) The importance of temperature and its variation in wastewater treatment process

2) The importance of energy balances in wastewater treatment process

3) The effect of temperature variation and is control

4) Monitoring in wastewater treatment plants

The ease with which solids are suspended in the liquid and are subsequently kept in suspension
depends chiefly on the settling velocity of the particles. This depends in turn on the size, shape, and

density of the particles, the viscosity and density of the liquid, and whether settling is free or
hindered.

The underlined word this here refers to the ——=—eaeee- ‘
1) suspensiﬂq 2) sedimentation rate of the particles
3) suspendability of solids 4) suspending velocity of the particles

Freeze drying is a separation process based on the sublimation phenomenon. This process has
the following advantages compared to the conventional drying process: the material structure is
mainatained, moisture is removed at low temperature (reduced transport rates), product stability

during the storage is increased, the fast transition of the moisturized product to be dehydrated
minimizes several degradation reactions.

One of the advantages of freez drying process is ~—----—--- ;
1) reduced product stabiliy 2) complex structureal changes
3) relatively high degradation reactions 4) low temperature operation

Since food production in the world is of major importance, all potential food sources must be
explored. In his big search for food, modern man is now looking beyond agriculture, animal
breeding and fish harvesting. One new potential food source is based on the discovery that it is
possible to sustain fermentation processes, not only on conventional carbohydrate media but also on
petroleum hydrocarbon media.

It has been known for some years that bacteria would attack hydrocarbons, undesirable foreign
materials having been produced in that way in aircraft fuel tanks, etc. The application of this
knowledge to the production of synthetic protein materials containing the essential amino acids by
hydrocarbon fermentation dates only from the early 1960's, however.

One of the major stimuli for development work on protein food production from petroleum lies
in the rate of food production as compared to conventional means. Thus, bacteria and yeasts that
feed on hydrocarbons are capable of doubling their weight in 3 to 5 hours, whereas plants like
soybeans, require as much as 1 to 2 weeks and cattle 2 to 4 months to double their weight. Land
requirements for protein production by fermentation would be a small fraction of that needed for
agriculture or animal raising; also water requirements would be lowered.

Bacteria that attack hydrocarbons can be used for which of the following?
1) the production of protein

2) the production of essential amino acids

3) the production of aircraft fuel

4) the degradation of undesirable meteials in aircraft fuel tanks
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29- Which of the following is NOT an advantage of the production of food from petroleum using
microorganisms?
1) high land requirement compared to animal breeding
2) lower water requirement compared to agriculture
3) higher rate of production compared to animal breeding
4) higher rate of production compared to agriculture
30- Which of the following is the most appropriate title for the above text?
1) food production in the world
2) fermentation products from petroleum
3) protein food production
4) fermentation products from bacteria and yeast
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